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Jlelg gt 21,671,583 22,999,020 327,437
Al 35,843
- 21,635,740
AX2E S 25t 468,103 441,609 26,494
Al 35,843
- 432,260
TEO HHAY 25t 233,128 247,218 A 14,090
&2 01" 2 g8 102,300 146,400 A 44100
201 Let24d] 91,400 137,400 A 46,000
01 At 22l 91,400 137,400 246,000
O&H=e Nz 20,000
-HEAE M M 10,000& x1,000% 10,000
-HEAE o= ME 10,000, 000& 10,000
OFZYAN M= 60,000 1005 6,000
AREN & HIF s MH
22,0003 *53| x200% 22,000
o2& SEAY WA H & 5,000,000& =63l 30,000
OZelZelH EY(eEd)?2d
250,000 *4JH x6 3 6,000
Ox&EIIde E2 =24 8,000& »6H x50 2,400
Og=Cl 30/ HM= 2,500& *2,000% 5,000
203 YR =2l 9,000 9,000 0
03 Al =AY R =& 9,000 9,000 0
O=&J8 g2z 2,000,000& 2,000
OJIlHets =QAIH =& 7,000,000& 7,000
405 TtabF S 1,900 0 1,900
01 et EFFHSHI 1,900 0 1,900
OE=S 2 1,900, 000& = 1CH 1,900
A0 sS4 XA EOt 60,328 28,328 32,000
201 Let24d] 34,728 12,728 22,000
01 At 2teltl 34,728 12,728 22,000
Odt2el A A SN 30,000& 1202 3,600
OgumelAAE D&t 22,000,000& » 14! 22,000
OXAHdE A3AE 2,000,000& 2,000
OXNAHE Xz M= 1,200,000& 1,200
Ode|AMAE ST 5,928,000 5,928
207 A RO 20,000 10,000 10,000
1H2E S| 20,000 10,000 10,000
OFZLHUM 27 B2 20,000,000& 20,000
303 Z& 3 5,600 5,600 0
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Odlt&e Il =24 ZA 1,600,000 1,600
OXAMEs 4A EA 4,000,000& 4,000
Z2HNE 2435 57,500 57,500 0
201 gBt2Ay| 7,500 7,500 0]
02 23244l 7,500 7,500 0
O=2Hs XNdI)s 242 7,500,000 7,500
202 04| 50,000 50,000 0
04 =Ml st dl 50,000 50,000 0
O=2HM3ztodl 50,000,000 50,000
ol gL =& 3,000 3,000 0
201 et 1,000 1,000 0
01 AP 2t 2] H| 1,000 1,000 0
OHHFANRZA XIS M 10,0002 *1008 1,000
203 &R F & 2,000 2,000 0
03 AIZH =& 25 X H| 2,000 2,000 0
O9g & gR=4A 2,000,000 2,000
gel §Al 9 =X 10,000 11,990 A 1,990
201 LBt 9| 10,000 10,990 A 990
01 AP 22| H| 10,000 10,990 A 990
ONI#E o gess £ 2 ME
10,000, 000& 10,000
Mg = 82 - SHEE £ R4 A= & 29 234,975 194,391 40,584
Al 35,843
- 199,132
HRRMHA =& 139,584 139,421 163
201 et 54,904 54,741 163
01 AP 22| H| 54,904 54,741 163
OasY =232 3,000,000& x10AH 30,000
Ozl & s¢= 700,000 *20H 14,000
OINEHSAI = 165,000 x3H «12& 5,940
OASANAH EEHAH L ZFHAMHH &4 Z4H|
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O8dHSs ¢ 23| 1,500,000& 1,500
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OFNMHEEZ M2 HUIA Ol 1,400,000 1,400
202 o4 | 1,920 1,920 0
01 2L HI 1,920 1,920 0
OAasE+80H| 20,000 »2H x4 x 128 1,920
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Oaxsge =2 1,000, 000& 1,000
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12 JIEtEA 3 30,000 30,000 0
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01 Z&= 1,760 1,760 0
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50,000,000& 50,000
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Al 9,835
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4 D12t ZE2XREES 19,670 11,543 8,127
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oIl (8Y) 19,670
Al 9,835
- 9,835
201 L2l 70,671 38,377 32,294
Al 26,008
T 44,663
01 At 22l 70,671 38,377 32,294
Od&E& Y2t 11,500& x1,250% 14,375
OgRSHAE &2t 30,000 1008 3,000
OXNGSHEZMN E2 =4I 1,280
-EAT HAF 2 EXRA 8,0008 2% x40 640
~ZAPE a2 LHE 8,000 2 x40 640
OXNGEHZA ESEANE ¢ 52,016
Al 26,008
T 26,008
203 PR =&l 1,000 1,000 0
03 Al =X A2 =& 1,000 1,000 0
OsHYRFZA 1,000, 000& 1,000
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HE: a2y
Sl AW WESY
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
303 L&t 3 6,000 6,000 0
01 243 6,000 6,000 0
Oulatd = 1,000,000 =6 6,000
308 XXM SOIA 25,386 0 25,386
M3 2SOoHetE & X 2 E A I 25,386 0 25,386
OXgME2eAAE (e X) BRI BES
25,386,000 25,386
403 MtXISHH S0l & 97,654 77,230 20,424
02 S 2SO HEAEE 2 E AL 97,654 77,230 20,424
OXMIO RSB 2ALAY 2 23
97,654,000 97,654
FoEMUA 2 9,000 9,000 0
201 L4l 4,000 4,000 0
01 At 2t 2l 4,000 4,000 0
OFUHHMA DU 2 X2
2,000,000& 2,000
O=xQHer 222 M= 1,000& *2,0000H 2,000
301 LA F 5,000 5,000 0
12JIEE43 5,000 5,000 0
Otlatsty - FE A 5 AT 24
20,000& x20H x53] 2,000
OFUEFHU LS W A& 500,000& x63l 3,000
M &4l N& 276,500 292,500 A 16,000
201 Let249] 118,500 84,500 34,000
01 At 22/l 116,500 82,500 34,000
OLLI2YHI(RNBS) 15,000, 000& 15,000
OS2t (BN3S) 1,500,000& 1,500
OB BH U NS (SHBE)
100,000, 000& 100,000
02 =24l 2,000 2,000 0
033232 %€ HHA(RAZSE) 2,000,000& 2,000
202 O4dl 88,000 88,000 0
01 = LH 4 di 88,000 88,000 0
O32% sHHHI(BEAZE) 88,000,000& 88,000
401 AIEHI L 2 CHYI 50,000 100,000 250,000
01 A& HI 50,000 100,000 A 50,000
OANEHI(BNSES) 50,000,000& 50,000
405 XtAtE SHI 20,000 20,000 0
01 AR ESFH S 20,000 20,000 0
O2EFSH(RN3S) 20,000,000& 20,000
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©oollelgl (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
& 22 20,633,722 22,024,571 A 1,390,849
0l 5l 8 20,633,722 22,024,571 A 1,390,849
ol Bl Bl 20,633,722 22,024,571 A 1,390,849
801 GilBI8l 20,633,722 22,024,571 A 1,390,849
01 Brolditl 4,600,000 4,600,000 0
O Bholgl gl 4,600,000,000& 4,600,000
02 THH - T = = 0l bl bl 16,033,722 17,424,571 A 1,390,849
OXHaH - T == olidl i 16,033,722,000& 16,033,722
HYR2IHH (DIEE L) 104,920 100,560 4,360
Jleduoagga) 104,920 100,560 4,360
3yl (o2gea) 104,920 100,560 4,360
201 LB-2E| 27,160 26,160 1,000
01 At 22l 23,560 22,560 1,000
OJIgl et ZA 29| 200,000& 128 2,400
ORM2Z JIEs8H| 40,0003 x21H x12& 10,080
ORM2Y Jl22d SAlY|
8,000 *21H 54« 123 10,080
OHIANRLAMIE & M 1,000, 000& 1,000
02 23=2gHl 3,600 3,600 0
O=EAl & 2&&dl |XHl  300,000&~122] 3,600
202 O4dl 70,560 67,200 3,360
01 SLHAYI 70,560 67,200 3,360
OJl=zge =d 20
20,0003 «21H x143|« 128 70,560
203 YR =&l 7,200 7,200 0
01 J122E =4 3,000 3,000 0
OJlaldsa s 3,000,000& 3,000
04 NI 4,200 4,200 0
ORNE2Y gR=4H 350,000& 122 4,200




